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SECTION B: Social Inequality

Answer one of the following questions.

Either,

2.

(b) Evaluate the view that social inequality is functional and inevitable. [40]
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Acknowledgement of the ability to make comparisons

Patterns and trends can allow predictions to be made which,
could in turn affect policy is implicit here.
The answer isn’t detailed enough in either skill to warrant top band
AO1=3. AO2=3



Acknowledgement of the ability to make comparisons



Patterns and trends can allow predictions to be made which, 
could in turn affect policy is implicit here.
The answer isn’t detailed enough in either skill to warrant top band
AO1=3. AO2= 3
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Rather confused
2 vague reasons with basic explanation
AO1=3
AO2=2










GCE A LEVEL SOCIOLOGY = UNIT 4
SOCIAL INEQUALITY AND APPLIED METHODS OF SOCIOLOGICAL ENQUIRY

SUMMER 2022 MARK SCHEME

Poverty in Wales 2018

Analysis of secondary data provides important information for sociologists and policy
makers. On behalf of the Joseph Rowntree Foundation, a team of researchers led by Helen
Barnard analysed current and existing data on income and households. The researchers
concluded that poverty is a problem in many parts of Wales. In 1994 Wales had the highest
rates of working age poverty in the UK. Although this had improved by 2003, since then the
rates of poverty have increased. Similarly, child poverty remains high in both England and
Wales. Through close analysis of statistics spanning 25years the researchers were able to
identify patterns and trends. They discovered that there was a clear relationship between
workless households and poverty. The researcher predicted that this problem is likely to
increase as more households experience unemployment.

1. (@) Identify and explain two reasons why the researchers decided to study
secondary data in their research. [10]

There should be two reasons for AO1 band 3. These reasons can be
theoretical, practical or methodological and must contain technical language.
For AO2 band 3 the reasons must be contextualised and explained with
reference to methodological issues.

Indicative content

The answer should be contextualised.
It gives an insight into trends...

It gives an insight into patterns...
Informs policy makers

Reliable

Representative

Practical

Any other relevant point.
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Band AO1 AO2
elements la & 1b element la
4 marks 5-6 marks

Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of | ability to select, apply and

3 sociological theories/concepts/ interpret appropriate sociological
evidence relating to the context | theories/concepts/evidence in
of the debate/ question. the context of the debate/

question.
2-3 marks 3-4 marks

Answers demonstrate some Answers demonstrate some
knowledge and understanding of | ability to select, apply and

2 sociological theories/concepts/ interpret appropriate sociological
evidence relating to the context | theories/ concepts/evidence in
of the debate/question the context of the debate/

question.
1 mark 1-2 marks

Answers demonstrate basic Answers demonstrate a basic
knowledge and understanding of | ability to select, apply and

1 sociological interpret appropriate sociological

theories/concepts/evidence
relating to the context of the
debate/question.

theories/concepts/evidence in
the context of the debate/
question.

0 marks
NRSP

0 marks
NRSP



































SECTION A: Applied methods of sociological enquiry

Read the following item and answer all the questions.

Compulsory question

Poverty in Wales 2018

Analysis of secondary data provides important information for sociologists and policy makers. On
behalf of the Joseph Rowntree Foundation, a team of researchers led by Helen Barnard analysed
current and existing data on income and households. The researchers concluded that poverty is a
problem in many parts of Wales. In 1994 Wales had the highest rates of working age poverty in the
UK. Although this had improved by 2003, since then the rates of poverty have increased. Similarly,
child poverty remains high in both England and Wales. Through close analysis of statistics
spanning 25 years the researchers were able to identify patterns and trends. They discovered

that there was a clear relationship between workless households and poverty. The researchers
predicted that this problem is likely to increase as more households experience unemployment.

Adapted from Joseph Rowntree Foundation

1. (@) Identify and explain two reasons why the researchers decided to use secondary data in
their research. [10]
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A sample is
achieveable
but, operationalising
is important here

And yet, the actual
post code is given

This makes sense
and shows
understanding



A sample is 
achieveable
but, operationalising
is important here



And yet, the actual 
post code is given



This makes sense 
and shows
understanding





Candidate
should avoid
making
assumptions
about the
advantages
of the
method. But,
the context
is good

Better to say
“should
allow”

Key terms used
apprrpriately

A little
vague on
how data

will be
collected.

Researcher
is often the
facilitator in
focus group
research



Better to say
“should 
allow”

Key terms used
apprrpriately



Candidate should avoid making
assumptions 
about the 
advantages 
of the method. But, the context is good



A little vague on how data will be collected. Researcher is often the facilitator in focus group research





A problem is
identified with
reference to
impact
though
lacking
development

Accurate but
naive

K& U of
sampling
techniques
with
justification
and reference
to problems



A problem is identified with reference to impact though lacking development



Accurate but naive



K& U of sampling techniques with justification and reference to problems





A reference
to stratified
random
sampling
here would
have added
valuable
detail

implicit ethical
issues but
sound
understanding



A reference to stratified random sampling here would have added valuable detail



implicit ethical issues but sound understanding





So this section
is re visiting
sampling. It

clarifies choices
and justifies
them

This adds clarity
to the process.
There was
scope for further
exposition of
problems and
impact but on
the whole the
design matches
the
requirements.

The answer matched descriptors for band 3 “some”. It did enough to
be close to “detailed” and so was placed at the top of band 3 for all
skills. The brief asked for extent and this was not addressed in the

design
AO1=8A02 =8 AO3 =8. 24/30



So this section is re visiting sampling. It clarifies choices and justifies them



This adds clarity to the process. There was scope for further exposition of problems and impact but on the whole the design matches the requirements.



The answer matched descriptors for band 3 “some”. It did enough to be close to “detailed” and so was placed at the top of band 3 for all skills. The brief asked for extent and this was not addressed in the design
AO1= 8 AO2 = 8 AO3 =8.         24/30
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Rather
superficial.
Assumes that
rapport would
be achieved.
Doesn’t
explain how
comparisons
could be
achieved-
would there be
standardised
questions?

a problem is
identified with
basic reference
to impact

very

generalised but
accurate. Not

contextualised



Rather superficial. Assumes that rapport would be achieved. Doesn’t explain how comparisons could be achieved-would there be standardised questions?



a problem is identified with basic reference to impact



 very generalised but accurate. Not contextualised





some use of
key
terminology

somewhat
vague,
especially
with
reference to
“extent”

The design was acceptable but lacked detailed explanation, justification and there was
very little consideration of the problems and their impact.This was reflected in the AO3
mark
AO1=9 AO2=8 AO3=5



some use of key terminology



somewhat vague, especially with reference to “extent”



The design was acceptable but lacked detailed explanation, justification and  there was very little consideration of the problems and their impact.This was reflected in the AO3 mark
AO1=9 AO2=8 AO3=5










(b)
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As an A level Sociology student, you have been asked to design a research
project to collect data on the extent of and reasons for part-time working
amongst a sample of young people in your local area.

0] Describe each stage of your research design, justifying the reasons
for your choice at each stage.

(i) Discuss problems that may occur and the impact of these problems on
the quality of the data collected. [30]

Answers should demonstrate the ability to make sense of sociological
debates, offer sociological examples and explain sociological concepts.
Answers need to use key terminology. Credit will be given to effective
discussion where there is evidence of detailed and wide-ranging knowledge.
Where answers demonstrate all abilities to the highest standard, then they
will be consistent with Band 4. However, answers demonstrating knowledge
but fewer skills of interpretation and discussion may achieve Band 4 for AO1
but lower bands for AO2 and AO3.

The research design should be ethical, achievable and appropriate to the
theme of the proposed study. Candidates should make their choices, justify
their research approach and design in the context of the brief. They should
pay close attention to the reasons for their choices as they have no hints in
the brief such as representative sample or qualitative/ quantitative data.
Potential problems must also be identified.

Indicative content

Expect to see the following stages addressed in the proposed design:
e Operationalisation of key terms
e Sampling
— population
— sampling technique
— access
¢ Research method
Ethical issues
e Practical considerations.

Expect to see the research design justified and potential problems identified
in relation to key methodological concepts and other relevant issues such as:
Ethics

Validity

Reliability

Practical considerations

Generalisability

Representativeness

Operationalisation.
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Band AO1 AO2 AO3
element 1a & 1b element la strands 1-3
9-10 marks 9-10 marks 9-10 marks
Answers Answers Answers
demonstrate detailed | demonstrate demonstrate
knowledge and accurate and detailed, well
understanding of relevant selection of | organised and
sociological theories/ | appropriate logical arguments.

4 concepts/ evidence | sociological theories/ | Logical judgements
relating to the concepts/ evidence. | and conclusions will
context of the These are applied be offered based on
debate/ question. and interpreted in explicit evaluation of

the context of the the relevant theories/
debate/ question. concepts/ evidence
examined.

6-8 marks 6-8 marks 6-8 marks
Answers Answers Answers
demonstrate some demonstrate some demonstrate some,
knowledge and accurate and well organised and
understanding of relevant selection of | logical arguments.
sociological appropriate Judgements and

3 theories/concepts/ sociological conclusions offered
evidence relating to | theories/concepts/ will show some
the context of the evidence. Some of evaluation of the
debate/ question. which are applied relevant theories/

and interpreted in concepts/ evidence
the context of the examined.
debate/question.

3-5 marks 3-5 marks 3-5 marks
Answers Answers Answers
demonstrate basic demonstrate a basic | demonstrate basic
knowledge and ability to select, arguments.

5 understanding of apply and interpret Judgements and
sociological appropriate conclusions offered
theories/concepts/ sociological theories/ | will show basic
evidence relating to | concepts/ evidence | evaluation of the
the context of the in the context of the | theories/ concepts/
debate/ question. debate/ question. evidence examined.

1-2 marks 1-2 marks 1-2 marks
Answers Answers Answers
demonstrate limited | demonstrate limited | demonstrate limited
knowledge and ability to select argument. Any

1 understanding of and/or interpret and/ | judgements and

sociological
theories/concepts/
evidence relating to
the context of the
debate/ question.

or apply sociological
theories/concepts/
evidence in the
context of the
debate/ question.

conclusions offered
will show limited
evaluation of any
theories/ concepts/
evidence examined.

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP



































SECTION A: Applied methods of sociological enquiry

Read the following item and answer all the questions.

Compulsory question

Poverty in Wales 2018

Analysis of secondary data provides important information for sociologists and policy makers. On
behalf of the Joseph Rowntree Foundation, a team of researchers led by Helen Barnard analysed
current and existing data on income and households. The researchers concluded that poverty is a
problem in many parts of Wales. In 1994 Wales had the highest rates of working age poverty in the
UK. Although this had improved by 2003, since then the rates of poverty have increased. Similarly,
child poverty remains high in both England and Wales. Through close analysis of statistics
spanning 25 years the researchers were able to identify patterns and trends. They discovered

that there was a clear relationship between workless households and poverty. The researchers
predicted that this problem is likely to increase as more households experience unemployment.

Adapted from Joseph Rowntree Foundation

(b) As an Alevel Sociology student, you have been asked to design a research project to
collect data on the extent of and reasons for part-time working amongst a sample of
young people in your area.

(i) Describe each stage of your research design, justifying the reasons for your
choice at each stage.

(i) Discuss problems that may occur and the impact of these problems on the quality
of the data collected. [30]

© WJEC CBAC Ltd. (1200U40-1)



































The first area
is identified

Acronyms
should not
be used until
the full name
of the
organisation
has been
identified.
The source
lacks detail

It is not
necessary to
explain why

the
inequality
exists

second
example
from crime
with
evidence



The first area is identified



Acronyms should not be used until the full name of the organisation has been identified. The source lacks detail



It is not necessary to explain why the inequality exists



second example from crime with evidence





It is difficult to
distinguish
inequality from
difference here

The second
area is identified

More detail on
the source
would help



It is difficult to distinguish inequality from difference here



The second area is identified



More detail on the source would help





There is some
confusion
about
inequality and
difference.
Material
deprivation is
key here



There is some confusion about inequality and difference. Material deprivation is key here





Education is
done quite well,
crime less so

2 areas but not done equally well. Some of what was offered
as evidence of inequality was actually difference and there was
too much time spent trying to explain the inequality/difference which is not required.
The focus should be on the identification of relevant evidence and the explanation
of what the evidence shows.
The answer matched the descriptors for band 3
AO1 =8 AO2=7



Education is done quite well, crime less so



2 areas but not done equally well. Some of what was offered 
as evidence of inequality was actually difference and there was 
too much time spent trying to explain the inequality/difference which is not required.
The focus should be on the identification of relevant evidence and the explanation
of what the evidence shows.
The answer matched the descriptors for band 3
AO1 =8 AO2=7
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first area-crime.
But there is a lot
of difference
rather than
inequality. There
is no need to
explain the
reasons for
inequality



first area-crime. But there is a lot of difference rather than inequality. There is no need to explain the reasons for inequality





2nd area

education
where there is
an abundance
of evidence of
class inequality



2nd area education where there is an abundance of evidence of class inequality
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there seems to be some confusion about the success criteria. Explanations for inequlity are not required. The answer could have looked at material deprivation/cultural capital where there is evidence of class inequality



some relevant evidence, some explanation of what the evidence shows. Lacking detail
AO1= 7. AO2=6










Social Inequality

2. €)
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Identify two areas of life in contemporary society where there is evidence of
class inequality. lllustrate your answer with reference to evidence for each
area identified. [20]

Answers should identify two areas. For both areas answers should use
appropriate evidence; official statistics and sociological research. The AO2
marks are for selection and explanation of appropriate evidence. For band 4
AO1 there should be more than one piece of evidence cited for each area
identified.

Evidence will link to two areas and can cite the same dimension of inequality
in each or different dimensions.

Indicative content;:

NB the answer could look at one dimension such as gender/ class/ or
ethnicity, or two dimensions but in either case evidence from two areas must
be presented

Education
o Differential attainment, Youth Cohort Study, DfES statistics showing
differences linked to social class.
Forsyth and Furlong
Callendar and Jackson
Gilchrist Phillips and Ross
Ball
Sullivan
Reay

Crime
e Patterns of offending, official police statistics, Crime Survey England and
Wales and prison population linked to social class.
Glueck and Glueck
Walmsley
Maguire
Hughes and Langan
Croall

Health
o Health inequalities and social class, patterns of morbidity and mortality,
Black Report, Acheson Report.
CIPR research
General Household Survey
Shaw et al
Wilkinson

Other areas could also be used such as work, the family, media.
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Band AO1 AO2
elements la & 1b element la
9-10 marks 9-10 marks
Answers demonstrate detailed Answers demonstrate a detailed
knowledge and understanding of | ability to select, apply and
4 sociological theories/ concepts/ | interpret appropriate sociological
evidence relating to the context | theories/ concepts/ evidence in
of the debate/question. the context of the
debate/question.
6-8 marks 6-8 marks
Answers demonstrate some Answers demonstrate some
knowledge and understanding of | ability to select, apply and
3 sociological theories/ concepts/ | interpret appropriate sociological
evidence relating to the context | theories/ concepts/ evidence in
of the debate/question. the context of the
debate/question.
3-5 marks 3-5 marks
Answers demonstrate basic Answers demonstrate a basic
knowledge and understanding of | ability to select, apply and
2 sociological theories/ interpret appropriate sociological
concepts/evidence relating to theories/ concepts/ evidence in
the context of the the context of the
debate/question. debate/question.
1-2 marks 1-2 marks
Answers demonstrate limited Answers demonstrate limited
knowledge and understanding of | ability to select and/or interpret
1 sociological theories/ concepts/ | and/ or apply sociological

evidence relating to the context
of the debate/question.

theories/ concepts/ evidence in
the context of the
debate/question.

0 marks
NRSP

0 marks
NRSP



































SECTION B: Social Inequality

Answer one of the following questions.

Either,
2. (a) Identify two areas of life in contemporary society where there is evidence of class

inequality. lllustrate your answer with reference to supporting evidence for each area
identified. [20]
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Barbara Greenall










Text



Barbara Greenall




















So far,
describing
what theories
say = AO1

But it is an
introduction



So far, describing what theories say = AO1

But it is an introduction





Is the criticism
justified? There
is an
opportunity
here for
evaluative
commentary
and detail

Juxtaposition of
ideas



Is the criticism justified? There is an opportunity here for evaluative commentary and detail



Juxtaposition of ideas





some attempt
to debate but
no evidence
used to
interrogate the
opposing
ideas

descriptive

Text



some attempt to debate but no evidence used to interrogate the opposing ideas 



descriptive





Some
understanding,
but, also some

confusion



Some understanding, but, also some confusion





Some attempt
to assess the
strengths of
opposing
views

Some K&U
but lacking
detail.
Largely
descriptive in
tone with no
use of
evidence to
enhance the
debate and
improve AO2
and AO3

AO1=7
AO2=6
AO3=10



Some attempt to assess the strengths of opposing views



Some K&U but lacking detail. Largely descriptive in tone with no use of evidence to enhance the debate and improve AO2 and AO3

AO1=7
AO2=6
AO3=10
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Begins to examine to functionalist view





a description of an
opposing
view=juxtaposition
at the moment

some attempt to
weigh up the
value but
undeveloped



a description of an opposing view=juxtaposition at the moment



some attempt to weigh up the value but undeveloped





feminist ideas
need to be
linked more
effectively to
the focus of the
debate



feminist ideas need to be linked more effectively to the focus of the debate





descriptive on
the whole



descriptive on the whole





lots of
knowledge



lots of knowledge





AO1 very good



AO1 very good










not much
evidence is used
to actually
interrogate the
ideas presented



not much evidence is used to actually interrogate the ideas presented





This candidate shows detailed knowledge and understanding of a range of theories.Links to the debate
were good but a little inconsistent. Evaluation was detailed at times.
AO1= 11 AO2= 10 AO3= 16



This candidate shows detailed knowledge and understanding of a range of theories.Links to the debate were good but a little inconsistent. Evaluation was detailed at times.
AO1= 11 AO2= 10 AO3= 16 










(b)
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Evaluate the view that social inequality is functional and inevitable. [40]

Answers will make judgements of sociological concepts, theory, controversy
or sociological debate. The answer will focus on the debate in the question.
Credit will be given to the effective use of supporting sociological
evidence/theories and concepts. Where answers demonstrate all abilities to
the highest standard then they will be consistent with Band 4. However,
answers demonstrating knowledge but fewer skills of assessment, judgement
and evaluation may achieve Band 4 for AO1 but lower bands for AO2 and
AO3.

Indicative content

NB: This question may produce descriptive answers; these may score highly
on AO1 but will not do so on AO2 or AO3

Functionalist ideas and the notion of meritocracy

e Expect reference to functionalists such as; Parsons, Durkheim, Davis and
Moore.

o Expect reference to ideas such as the notion of effective role allocation
and meritocracy; the inevitability and functionality of stratification and
social inequality.

e New Right ideas as a defence of functionalism; Saunders.

o Marxist ideas
The distribution of wealth and income and the growing gap between rich
and poor

o Reference may be made to recent political, social or public debate;
employment such as zero hours contracts, temporary/ fixed term
contracts and their impact

e |deas should be compared and evaluated with reference to supporting
evidence.

e There should be a sound and accurate understanding of Marxist theory
and its focus on class inequalities in explaining social inequality used to
criticise functionalist claims.

¢ \Weberian ideas about class and its significance; market situation four
classes; privileged, petty bourgeoisie, white collar workers, manual
workers.

o Weber's ideas about status; different dimensions of inequality such as
gender, age, ethnicity and discussion of how useful this is to our
understanding of social inequality...used to assess Marxist ideas

e Any other relevant point
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Band AO1 AO2 AO3
element 1a & 1b element la strands 1-3
9-11 marks 9-11 marks 15-18 marks
Answers Answers Answers
demonstrate demonstrate demonstrate
detailed knowledge | accurate and detailed, well
and understanding relevant selection of | organised and
of sociological appropriate logical arguments.
4 theories/concepts/ sociological Logical judgements
evidence relating to | theories/concepts/ and conclusions will
the context of the evidence. These are | be offered based on
debate/question. applied and explicit evaluation of
interpreted in the the relevant
context of the theories/concepts/
debate/question. evidence examined.
6-8 marks 6-8 marks 10-14 marks
Answers Answers Answers
demonstrate some demonstrate some demonstrate some,
knowledge and accurate and well organised and
understanding of relevant selection of | logical arguments.
sociological appropriate Judgements and
3 theories/concepts/ sociological conclusions offered
evidence relating to | theories/concepts/ will show some
the context of the evidence. Some of evaluation of the
debate/question. which are applied relevant theories/
and interpreted in concepts/ evidence
the context of the examined.
debate/question.
3-5 marks 3-5 marks 5-9 marks
Answers Answers Answers
demonstrate basic demonstrate a basic | demonstrate basic
knowledge and ability to select, arguments.
understanding of apply and interpret Judgements and
2 sociological appropriate conclusions offered
theories/concepts/ sociological will show basic
evidence relating to | theories/concepts/ evaluation of the
the context of the evidence in the theories/concepts/
debate/question. context of the evidence examined.
debate/ question.
1-2 marks 1-2 marks 1-4 marks
Answers Answers Answers
demonstrate limited | demonstrate limited | demonstrate limited
knowledge and ability to select argument. Any
1 understanding of and/or interpret and/ | judgements and

sociological
theories/concepts/
evidence relating to
the context of the
debate/question.

or apply sociological
theories/concepts/
evidence in the
context of the
debate/question.

conclusions offered
will show limited
evaluation of any
theories/concepts/
evidence examined.

0 marks
NRSP

0 marks
NRSP

0 marks
NRSP


















